Year 6

Tuesday 1474 July 2020

Maths

LO: Angles in a triangle - missing angles.




The video of this lesson is available here - Summer
Term — Week 11 - lesson 2

This link works on the printable version and is
available above the PowerPoint.

You will need to watch this video to learn the
skills you need in this lesson.


https://whiterosemaths.com/homelearning/year-6/

The independent work continues on the next two slides. There are 5
questions and 1 extension.
(Espanol - cinco preguntas y una extension)

—

The chili suggests a good starting point depending on how confident you are feeling.
If you have time you can complete all the independent work!



Angles in a triangle - missing angles

o Match each diagram to the correct rule.
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Angles on a straight
line sum to 180°

Angles around a
point sum to 360°

Angles in a triangle
sum to 180°

In an isosceles
triangle, two angles
are equal

Vertically opposite
angles are equal
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o Work out the sizes of the unknown angles.
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Give reasons for each stage of your working.

a= because
b= because
d= because
e= because
f= because
g= because
h= because
1=

because




° Work out the sizes of the angles marked with letters. o Work out the sizes of the unknown angles.
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Talk about your reasons with a partner. @
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The next two slides contain the answers
should you wish to check you work and

reflect on what you understand.
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Angles in a triangle - missing angles

o Match each diagram to the correct rule.
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Angles on a straight
line sum to 180°

Angles around a
point sum to 360°

Angles in a triangle
sum to 180°

In an isosceles
triangle, two angles
are equal

Vertically opposite
angles are equal

o Work out the sizes of the unknown angles.

Give reasons for each stage of your working.

b)

(4]

137¢

>

309°

a=| 7 1? | because uarh'sg.éj
_cppositt. anglen or€ equot
b=| LG W |because %M

uh'mngg. Sum bo |80°

d=| L41%" |because oaglen on
a siroigy Lne sum to 180°
e=| 43" |because in on isedes

triorgls  huo anden ose equal.

f=

qy°

because _q.aén_m_

o biondt  Sum b 180°

g=| 51" |because _anglen
. o
h=| 90" |because mg.m_m_

because

1l ESS



o Work out the sizes of the angles marked with letters. o Work out the sizes of the unknown angles. C
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Talk about your reasons with a partner. @




